2006

si ken. dat
kekka. t xt
0.4 0.6

character nane*10
i nteger tenl,ten2
real total

open(unit=1,file= siken.dat',status= ol d)
open(uni t =6, fil e=" kekka.txt")
wr it e(6, 1000)
1000 format (' ' ," ', BX, " 1)
10 read(1, 2000, end=20) nane, t enl, t en2
2000 format (a0, 2i 3)
total =t enl1*0. 4+t en2*0. 6
wr i te(6,3000) nane, tenl, ten2, total
3000 format (' ',alo0, 2i 7,f10.1)
go to 10
20 cl ose(1)
cl ose( 6)

stop
end

S /WK 85 90

[SHI 55 72
WATANRBE 67 60
ABE 78 55

TANAKA 26 40
KBAYAS 88 92
MYAGAMWA 67 78
KBAYASH 45 63



2006 1

YAMMZAKL 71 48
NAKAGAVAA 64 55

S 85 90 88.0
| H I 55 72 65. 2
VATANABE 67 60 62.8
ABE 78 55 64.2
TANAKA 26 40 34.4
KCBAYAS 88 92 90. 4
M YAGAVA 67 78 73.6
KCBAYASH 45 63 55.8
YAVRZAK] 71 48 57.2
Fortran
| nput
kof | nput ki sen. dat
2005 4 o oo () X X
6 No.o o KR50 20 20 N
(m)
Kaf) N) (m) (m)
1
P1-R1 [ 10238 0102 10136 10.1355| 21 2 19.6 0.12| -0.007| 10.1356 19.2032
136 001 10135
R1-Q1 9.069] 0.001 9.068| 9.0675| 21 2 19.6 0.10| -0.006| 9.0676
172 105 9.067
Q1-R1 9.081] 0.009 9072 90715 21 2 19.6 0.10| -0.006| 9.0716 19.2087
9.171 100 9071
R1-P1 [ 10145 0006 10139 10137[ 21 2 19.6 012 | -0.007| 101371
10.184 049 10135
19.2060
2
P1-R1 [ 10145 0006 10139 10.1385| 21 4 39.2 012 | 0.337| 10.1390 19.2109
148 010 10138
R1-Q1 9.073] 0.004 9.069| 9.0715| 21 4 39.2 010| 0301| 9.0719
9.126 052 9.074
Q1-R1 9.163] 0.096 9.067| 9.0675[ 21 4 39.2 010] 0301 9.0679 19.2064
9.076 006 9.068
R1-P1 [ 10141 0002 10139 10138 21 4 39.2 012 | 0.337| 10.1385
10.181 044] 10137
19.2086




2006

st.  mael mae2  ushirol ushiro2  sal sa2 ave ondo tyol
PR 10.238 10.136 0.102 0.001 10.136 10.135 10.1355 21 2
RQ 9.069 9.172 0.001 0.105 9068 9067 90675 21 2
QR 9.081 9171 0.009 0.100 9072 9071 90715 21 2
RP 10.145 10.184 0.006 0.049 10139 10135 10137 21 2
1
gokeikyo : 19.2032  19.2087
zenheikin: 19.2060
*k*k *k*k
st. station mael 1 mae2
sal sa2 ave ondo tyol
hoseil hosei2 hosei3
2 Input
o

20
10°¢

1000
o

20N
0.0173x 104/N

1000

tyo2 hoseil hosei2 hosei3
19.6 012 -0.007 10.1356
19.6 010 -0.006 9.0676
19.6 010 -0.006 9.0716
196 012 -0.007 10.1371
2
(kgf) tyo2 (N)
11. 5x
nm

(VA5
nm



